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Consider a rectangular Gaussian surface surrounding a dipole
that has 16 field lines emanating from its positively charged end.

If you move the Gaussian rectangle around (anywhere in the
plane), the field line flux through the rectangle:

A. Always remains zero
B. Varies between -32 and +32.3

C. Varies between -16 and +16

@ Is -16, zero, or 16
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electric field between
the plates. An electron
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is moved from pointA L - > “A
to point B. X e )
Which of the
following is true? A. Ueg —Uena >0 and Vg —=Va >0
Wel,xw;;: F.d B. Ue,B_Ue,A <0 and Vs —VA <0
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¢-e) - "“ = |E. None of the above.
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